Long Multiplication
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What do we do when we want to
multiply a number by another number

that has two digits in it like the sum
shown above? This is known as long
multiplication.

How do we do it? Well first we look
at the number we are multiplying by
— in this sum it is 27.

27 is made up of 2 tens and 7 units.

So first we just multiply 36 by the 7
units. We don’t worry about the two
tens at all yet.

So this sum is just like a normal
multiplication sum we looked at
before. And we get the answer 252
and write that answer in.

252
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But we still need to multiply by the
two tens (or 20) that is now circled in
green in the sum above.

That number 2 stands for 2 tens or
we could write it as 2 x 10

So for an easy way to multiply this,
instead of trying to multiply 36 by
20, we could multiply it by 2 and
then by 10.

This is the same as multiplying by
20.
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Butremember what we said before. If
we multiply any number by 10 we
can just add a zero.

So if we’re going to multiply 36 by 2
and then multiply it by 10, our
answer is going to end in a zero
because we’re multiplying by 10.

So to make it easier we can just put
this zero in now before we start. You
can see where I've added in the red
zero in the box above.

Now instead of multiplying 36 by
two tens, I just have to multiply it by
2 because I've already added in my
zero.

So my answer for 36 multiplied by
20 is: 720

Now I just need to add my answer
from multiplying by the units (252)
and my answer from multiplying by
the tens (7/20) and I get my final
answer: 972

You can click on the picture below to watch a short video showing

the steps in completlng long multipllcation
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https://drive.google.com/file/d/1PlnqABVjJU1c7MuI8eoV4Dsy3dOrlByR/view?usp=sharing

Long Multiplication Activity C

Here’s another example. See if you
can jollow the steps to get the

answer:

1) Work out your answer for 42 x 7
and write that in first. You
should get 294.

2) Now we need to multiply 42 by
20 or the two tens. So use your
shortcut and fill in your zero first
under the 4 in 294

3) Now multiply 42 x 2 and write in
your answer. You should have 840.

4) Now add 294 and 840 together

to get your answer. It should be
1134,

Here’s a place for you to try the

steps: 4 2
X 27

Your sum should look like this at the
end:

42
x 27
291k

+ 84O

|1 34

Now here’s some to try gourself:
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Long Multlpllcatlon Actlvltg D

1. (@

2. '@A)

3. (@) 56 x 87

41
x 26

56
x 32

(b)

(b)

(b) 73 x 91

54
x 28

64
x 47

67
x 24

(c) 94

(c) 48 x 63

(d) 29 x 36

64
x 29

(e)

75
x 81

(e) 80 x 49



